Mathematics

## Research article

# Some identities involving Gauss sums 


#### Abstract

Xi Liu*


School of Mathematics, Northwest University, Xi'an, Shaanxi, China

* Correspondence: Email: liuximath@stumail.nwu.edu.cn.


#### Abstract

We calculate several identities involving some Gauss sums of the $2^{k}$-order character modulo an odd prime $p$ by using the elementary and analytic methods, and finally give several exact and interesting formulae for them. The properties of the classical Gauss sums play an important role in the proof of this paper.


Keywords: $2^{k}$-order character; the classical Gauss sums; analytic methods; identity; calculating formula
Mathematics Subject Classification: 11L10, 11L40

## 1. Introduction

Let $q>1$ be an integer and let $\chi$ be Dirichlet character modulo $q$. The Gauss sums $G(m, \chi ; q)$ is defined as

$$
G(m, \chi ; q)=\sum_{a=1}^{q} \chi(a) e\left(\frac{m a}{q}\right),
$$

where $m$ is integer and $e(y)=e^{2 \pi i y}$.
Gauss sums is very important in the analytic number theory and related research filed. Many scholars studied its properties and obtained a series of interesting results (see [1-4, 6, 7,9-14, 17, 18]). For example, let $\chi$ be the primitive character modulo $q$, we have

$$
G(m, \chi ; q)=\bar{\chi}(m) G(1, \chi ; q) \equiv \bar{\chi}(m) \tau(\chi) \text { and }|\tau(\chi)|=\sqrt{q},
$$

where $\tau(\chi)=\sum_{b=1}^{q} \chi(b) e\left(\frac{b}{q}\right)$ and $\bar{\chi}$ is the complex conjugate of $\chi$.
Berndt and Evans [3] studied the properties of cubic Gauss sums. Zhang and Hu [15] studied the number of the solutions of the diagonal cubic congruence equation $\bmod p$, they obtained the following results: Let $p$ be a prime with $p \equiv 1 \bmod 3$. Then for any third-order character $\lambda$ modulo $p$, one has
the identity

$$
\begin{equation*}
\tau^{3}(\lambda)+\tau^{3}(\bar{\lambda})=d p \tag{1.1}
\end{equation*}
$$

where $d$ is uniquely determined by $4 p=d^{2}+27 b^{2}$ and $d \equiv 1 \bmod 3$.
In addition, Chen and Zhang [8] studied the case of the fourth-order character modulo $p$, and obtained an identity (see the Lemma 1). Chen [5] studied the properties of the Gauss sums of the sixth-order character modulo $p$. It is not hard to see from [5, 8, 15], the number of these characters is 2. What about the number of the characters $>2$ ? Motivated by that, Zhang et al. [16] studied the eight-order and twelve-order characters.

In this article, we shall further study the generalization. That is, the number of the characters is $\phi\left(2^{k}\right)=2^{k-1} \geq 4$. We prove several identities involving the Gauss sums of the $2^{k}$-order character modulo an odd prime $p$ with $p \equiv 1 \bmod 2^{k}(k \geq 3)$. We give several exact and interesting formulae for them.

Theorem 1. Let $p$ be an odd prime with $p \equiv 1 \bmod 16$. If $\chi_{16}$ denotes a sixteen-order character modulo $p$, then we have the identity

$$
\left|\frac{\tau^{4}\left(\chi_{16}^{7}\right)}{\tau^{4}\left(\chi_{16}\right)}+\frac{\tau^{4}\left(\chi_{16}^{5}\right)}{\tau^{4}\left(\chi_{16}^{3}\right)}\right|=\left|\frac{\tau^{4}\left(\chi_{16}^{9}\right)}{\tau^{4}\left(\chi_{16}^{15}\right)}+\frac{\tau^{4}\left(\chi_{16}^{11}\right.}{\tau^{4}\left(\chi_{16}^{13}\right)}\right|=\frac{2 \cdot|\alpha|}{\sqrt{p}},
$$

where $\alpha=\frac{1}{2} \sum_{a=1}^{p-1}\left(\frac{a+\bar{a}}{p}\right)$, $\bar{a}$ denotes the multiplicative inverse of a modulo $p$, and $\left(\frac{*}{p}\right)$ denotes the Legendre's symbol modulo $p$.

Theorem 2. Let $p$ be an odd prime with $p \equiv 1 \bmod 32$. If $\chi_{32}$ denotes a 32 -order character modulo $p$, then we have the identity

$$
\left|\frac{\tau^{4}\left(\chi_{32}^{7}\right) \cdot \tau^{4}\left(\chi_{32}^{15}\right)}{\tau^{4}\left(\chi_{32}\right) \cdot \tau^{4}\left(\chi_{32}^{9}\right)}+\frac{\tau^{4}\left(\chi_{32}^{5}\right) \cdot \tau^{4}\left(\chi_{32}^{13}\right)}{\tau^{4}\left(\chi_{32}^{3}\right) \cdot \tau^{4}\left(\chi_{32}^{11}\right)}\right|=\frac{2 \cdot|\alpha|}{\sqrt{p}} .
$$

More generally, for any positive integer $k$, we have the following theorem.
Theorem 3. Let $k \geq 5$ be an integer. For any prime $p$ with $p \equiv 1 \bmod 2^{k}$, if $\chi_{2^{k}}=\psi$ denotes a $2^{k}$-order character modulo $p$, then we have the identity

$$
\left|\frac{\prod_{\substack{j=1 \\ j=-1 \bmod 8}}^{2^{k-1}-1} \tau^{4}\left(\psi^{j}\right)}{\prod_{\substack{h=1 \\ h=1 \bmod 8}}^{2^{k-1}-1} \tau^{4}\left(\psi^{h}\right)}+\frac{\prod_{\substack{j=1 \\ j=3=1 \\ h=3 \bmod 8}}^{\prod_{\substack{2^{k-1}-1}}^{2^{k-1}-1} \tau^{4}\left(\psi^{j}\right)} \mid}{\left.\psi^{h}\right)}\right|=\frac{2 \cdot|\alpha|}{\sqrt{p}} .
$$

## 2. Several lemmas

In this section, we will give several lemmas by using the relevant properties of character sums.
Lemma 1. Let $p$ be a prime with $p \equiv 1 \bmod 4$, then for any fourth-order character $\chi_{4}$ modulo $p$, we have

$$
\tau^{2}\left(\chi_{4}\right)+\tau^{2}\left(\bar{\chi}_{4}\right)=2 \sqrt{p} \cdot \alpha
$$

where $\alpha=\frac{1}{2} \sum_{a=1}^{p-1}\left(\frac{a+\bar{a}}{p}\right)$, and $\left(\frac{*}{p}\right)=\chi_{2}$ denotes the Legendre's symbol modulo $p$.
Proof. See Lemma 3 in [7].
Lemma 2. Let $p$ be a prime with $p \equiv 1 \bmod 4$. Then for any non-principal character $\psi \bmod p$ we have the identity

$$
\tau\left(\bar{\psi}^{2}\right)=\frac{\bar{\psi}(-4) \cdot \sqrt{p} \cdot \tau\left(\bar{\psi} \chi_{2}\right)}{\tau(\psi)}
$$

Proof. From the properties of the classical Gauss sums we have

$$
\begin{align*}
& \sum_{a=0}^{p-1} \psi\left(a^{2}-1\right)=\sum_{a=0}^{p-1} \psi\left((a+1)^{2}-1\right)=\sum_{a=1}^{p-1} \psi\left(a^{2}+2 a\right)=\sum_{a=1}^{p-1} \psi(a) \psi(a+2) \\
= & \frac{1}{\tau(\bar{\psi})} \sum_{a=1}^{p-1} \psi(a) \sum_{b=1}^{p-1} \bar{\psi}(b) e\left(\frac{b(a+2)}{p}\right)=\frac{1}{\tau(\bar{\psi})} \sum_{b=1}^{p-1} \bar{\psi}(b) \sum_{a=1}^{p-1} \psi(a) e\left(\frac{b(a+2)}{p}\right) \\
= & \frac{\tau(\psi)}{\tau(\bar{\psi})} \sum_{b=1}^{p-1} \bar{\psi}(b) \bar{\psi}(b) e\left(\frac{2 b}{p}\right)=\frac{\tau(\psi)}{\tau(\bar{\psi})} \sum_{b=1}^{p-1} \bar{\psi}^{2}(b) e\left(\frac{2 b}{p}\right)=\frac{\psi(4) \tau\left(\bar{\psi}^{2}\right) \tau(\psi)}{\tau(\bar{\psi})} . \tag{2.1}
\end{align*}
$$

On the other hand, for any integer $b$ with $(b, p)=1$, we have the identity

$$
\sum_{a=0}^{p-1} e\left(\frac{b a^{2}}{p}\right)=1+\sum_{a=1}^{p-1}\left(1+\chi_{2}(a)\right) e\left(\frac{b a}{p}\right)=\sum_{a=1}^{p-1} \chi_{2}(a) e\left(\frac{b a}{p}\right)=\chi_{2}(b) \cdot \sqrt{p}
$$

so note that $\chi_{2}(-1)=1$ we also have the identity

$$
\begin{align*}
& \sum_{a=0}^{p-1} \psi\left(a^{2}-1\right)=\frac{1}{\tau(\bar{\psi})} \sum_{a=0}^{p-1} \sum_{b=1}^{p-1} \bar{\psi}(b) e\left(\frac{b\left(a^{2}-1\right)}{p}\right) \\
= & \frac{1}{\tau(\bar{\psi})} \sum_{b=1}^{p-1} \bar{\psi}(b) e\left(\frac{-b}{p}\right) \sum_{a=0}^{p-1} e\left(\frac{b a^{2}}{p}\right)=\frac{\tau\left(\chi_{2}\right)}{\tau(\bar{\psi})} \sum_{b=1}^{p-1} \bar{\psi}(b) \chi_{2}(b) e\left(\frac{-b}{p}\right) \\
= & \frac{\sqrt{p}}{\tau(\bar{\psi})} \sum_{b=1}^{p-1} \bar{\psi} \chi_{2}(b) e\left(\frac{-b}{p}\right)=\frac{\bar{\psi}(-1) \sqrt{p} \cdot \tau\left(\bar{\psi} \chi_{2}\right)}{\tau(\bar{\psi})} . \tag{2.2}
\end{align*}
$$

Combining (2.1) and (2.2) we have the identity

$$
\tau\left(\bar{\psi}^{2}\right)=\frac{\bar{\psi}(-4) \cdot \sqrt{p} \cdot \tau\left(\bar{\psi} \chi_{2}\right)}{\tau(\psi)}
$$

This proves Lemma 2.
Lemma 3. Let $p$ be an odd prime with $p \equiv 1 \bmod 8$. If $\chi_{8}$ is an 8 -order character modulo $p$, then we have

$$
\left|\tau^{4}\left(\chi_{8}\right)+\tau^{4}\left(\chi_{8}^{3}\right)\right|=2 \cdot p^{\frac{3}{2}} \cdot|\alpha| .
$$

Proof. Taking $\psi=\chi_{8}$, then $\psi^{2}=\chi_{4}$ is a four-order character modulo $p$. Note that $\psi^{2}(-4)=1$, from Lemmas 1 and 2 we have

$$
2 \cdot \sqrt{p} \cdot \alpha=\tau^{2}\left(\bar{\psi}^{2}\right)+\tau^{2}\left(\psi^{2}\right)=\frac{p \cdot \tau^{2}\left(\bar{\psi} \chi_{2}\right)}{\tau^{2}(\psi)}+\frac{p \cdot \tau^{2}\left(\psi \chi_{2}\right)}{\tau^{2}(\bar{\psi})}
$$

or

$$
\begin{equation*}
\frac{\tau^{2}\left(\bar{\psi} \chi_{2}\right)}{\tau^{2}(\psi)}+\frac{\tau^{2}\left(\psi \chi_{2}\right)}{\tau^{2}(\bar{\psi})}=\frac{2 \cdot \alpha}{\sqrt{p}} . \tag{2.3}
\end{equation*}
$$

Note that $\bar{\psi} \chi_{2}=\psi^{3}, \bar{\psi}=\psi^{7}$ and $\frac{\tau^{2}\left(x_{8}^{5}\right)}{\tau^{2}\left(x_{8}^{7}\right)}=\frac{\tau^{2}\left(x_{8}\right)}{\tau^{2}\left(\chi_{8}^{3}\right)}$, from (2.3) we have the identity

$$
\begin{equation*}
\tau^{4}\left(\chi_{8}\right)+\tau^{4}\left(\chi_{8}^{3}\right)=\frac{2 \cdot \alpha}{\sqrt{p}} \cdot \tau^{2}\left(\chi_{8}\right) \tau^{2}\left(\chi_{8}^{3}\right) \tag{2.4}
\end{equation*}
$$

Now Lemma 3 follows from (2.4).

## 3. Proofs of the theorems

In this section, we shall give the proof of all results by using the properties of the classical Gauss sums, the elementary and analytic methods. For Theorem 1 , Let $p$ be an odd prime with $p \equiv 1 \bmod 16$, and $\chi_{16}$ is a sixteen-order character modulo $p$, then from Lemma 2 we have

$$
\begin{equation*}
\tau^{4}\left(\bar{\chi}_{8}\right)=\frac{\bar{\chi}_{16}^{4}(-4) \cdot p^{2} \cdot \tau^{4}\left(\chi_{16}^{7}\right)}{\tau^{4}\left(\chi_{16}\right)}=\frac{p^{2} \cdot \tau^{4}\left(\chi_{16}^{7}\right)}{\tau^{4}\left(\chi_{16}\right)} \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
\tau^{4}\left(\bar{\chi}_{8}^{3}\right)=\frac{\bar{\chi}_{16}^{12}(-4) \cdot p^{2} \cdot \tau^{4}\left(\chi_{16}^{21}\right)}{\tau^{4}\left(\chi_{16}^{3}\right)}=\frac{p^{2} \cdot \tau^{4}\left(\chi_{16}^{5}\right)}{\tau^{4}\left(\chi_{16}^{3}\right)} . \tag{3.2}
\end{equation*}
$$

Applying (3.1), (3.2) and Lemma 3 we have

$$
2 \cdot p^{\frac{3}{2}} \cdot|\alpha|=\left|\tau^{4}\left(\chi_{8}\right)+\tau^{4}\left(\chi_{8}^{3}\right)\right|=\left|\tau^{4}\left(\bar{\chi}_{8}\right)+\tau^{4}\left(\bar{\chi}_{8}^{3}\right)\right|=p^{2} \cdot\left|\frac{\tau^{4}\left(\chi_{16}^{7}\right)}{\tau^{4}\left(\chi_{16}\right)}+\frac{\tau^{4}\left(\chi_{16}^{5}\right)}{\tau^{4}\left(\chi_{16}^{3}\right)}\right|
$$

or identity

$$
\left|\frac{\tau^{4}\left(\chi_{16}^{7}\right)}{\tau^{4}\left(\chi_{16}\right)}+\frac{\tau^{4}\left(\chi_{16}^{5}\right)}{\tau^{4}\left(\chi_{16}^{3}\right)}\right|=\frac{2 \cdot|\alpha|}{\sqrt{p}} .
$$

This proves Theorem 1.
Now we prove the Theorem 2. Let $p$ be an odd prime with $p \equiv 1 \bmod 32$, and $\chi_{32}$ is a 32 -order character modulo $p$, then from Lemma 2 we have

$$
\begin{equation*}
\tau^{4}\left(\bar{\chi}_{16}\right)=\frac{\bar{\chi}_{32}^{4}(-4) \cdot p^{2} \cdot \tau^{4}\left(\chi_{32}^{15}\right)}{\tau^{4}\left(\chi_{32}\right)}=\frac{\bar{\chi}_{4}(2) \cdot p^{2} \cdot \tau^{4}\left(\chi_{32}^{15}\right)}{\tau^{4}\left(\chi_{32}\right)} \tag{3.3}
\end{equation*}
$$

and

$$
\begin{equation*}
\tau^{4}\left(\bar{\chi}_{16}^{7}\right)=\frac{\bar{\chi}_{32}^{28}(-4) \cdot p^{2} \cdot \tau^{4}\left(\chi_{32}^{105}\right)}{\tau^{4}\left(\chi_{32}^{7}\right)}=\frac{\chi_{4}(2) \cdot p^{2} \cdot \tau^{4}\left(\chi_{32}^{9}\right)}{\tau^{4}\left(\chi_{32}^{7}\right)} . \tag{3.4}
\end{equation*}
$$

Since $\chi_{4}^{2}(2)=\chi_{2}(2)=1$, from (3.3) and (3.4) we get

$$
\begin{equation*}
\frac{\tau^{4}\left(\bar{\chi}_{16}^{7}\right)}{\tau^{4}\left(\bar{\chi}_{16}\right)}=\frac{\tau^{4}\left(\chi_{32}\right) \cdot \tau^{4}\left(\chi_{32}^{9}\right)}{\tau^{4}\left(\chi_{32}^{7}\right) \cdot \tau^{4}\left(\chi_{32}^{15}\right)} \tag{3.5}
\end{equation*}
$$

and

$$
\begin{equation*}
\frac{\tau^{4}\left(\bar{\chi}_{16}^{5}\right)}{\tau^{4}\left(\bar{\chi}_{16}^{3}\right)}=\frac{\tau^{4}\left(\chi_{32}^{3}\right) \cdot \tau^{4}\left(\chi_{32}^{11}\right)}{\tau^{4}\left(\chi_{32}^{5}\right) \cdot \tau^{4}\left(\chi_{32}^{13}\right)} . \tag{3.6}
\end{equation*}
$$

Noting that

$$
\begin{align*}
&\left|\frac{\tau^{4}\left(\bar{\chi}_{32}\right) \cdot \tau^{4}\left(\bar{\chi}_{32}^{9}\right)}{\tau^{4}\left(\bar{\chi}_{32}^{7}\right) \cdot \tau^{4}\left(\bar{\chi}_{32}^{15}\right)}+\frac{\tau^{4}\left(\bar{\chi}_{32}^{3}\right) \cdot \tau^{4}\left(\bar{\chi}_{32}^{11}\right)}{\tau^{4}\left(\bar{\chi}_{32}^{5}\right) \cdot \tau^{4}\left(\chi_{32}^{13}\right)}\right| \\
&=\left|\frac{\tau^{4}\left(\chi_{32}^{7}\right) \cdot \tau^{4}\left(\chi_{32}^{15}\right)}{\tau^{4}\left(\chi_{32}\right) \cdot \tau^{4}\left(\chi_{32}^{9}\right)}+\frac{\tau^{4}\left(\chi_{32}^{5}\right) \cdot \tau^{4}\left(\chi_{32}^{13}\right)}{\tau^{4}\left(\chi_{32}^{3}\right) \cdot \tau^{4}\left(\chi_{32}^{11}\right)}\right| . \tag{3.7}
\end{align*}
$$

Combining (3.5)-(3.7) and Theorem 1 we immediately have the identity

$$
\begin{aligned}
& =\left|\frac{\tau^{4}\left(\chi_{32}^{7}\right) \cdot \tau^{4}\left(\chi_{32}^{15}\right)}{\tau^{4}\left(\chi_{32}\right) \cdot \tau^{4}\left(\chi_{32}^{9}\right)}+\frac{\tau^{4}\left(\chi_{32}^{5}\right) \cdot \tau^{4}\left(\chi_{32}^{13}\right)}{\tau^{4}\left(\chi_{32}^{3}\right) \cdot \tau^{4}\left(\chi_{32}^{11}\right)}\right| \\
& =\left|\frac{\tau^{4}\left(\bar{\chi}_{32}\right) \cdot \tau^{4}\left(\bar{\chi}_{32}^{9}\right)}{\tau^{4}\left(\bar{\chi}_{32}^{7}\right) \cdot \tau^{4}\left(\bar{\chi}_{32}^{15}\right)}+\frac{\tau^{4}\left(\bar{\chi}_{32}^{3}\right) \cdot \tau^{4}\left(\bar{\chi}_{32}^{11}\right)}{\tau^{4}\left(\bar{\chi}_{32}^{5}\right) \cdot \tau^{4}\left(\bar{\chi}_{32}^{13}\right)}\right| \\
& =\left|\frac{\tau^{4}\left(\chi_{32}\right) \cdot \tau^{4}\left(\chi_{32}^{9}\right)}{\tau^{4}\left(\chi_{32}^{7}\right) \cdot \tau^{4}\left(\chi_{32}^{15}\right)}+\frac{\tau^{4}\left(\chi_{32}^{3}\right) \cdot \tau^{4}\left(\chi_{32}^{11}\right)}{\tau^{4}\left(\chi_{32}^{5}\right) \cdot \tau^{4}\left(\chi_{32}^{13}\right)}\right| \\
& =\left|\frac{\tau^{4}\left(\bar{\chi}_{16}^{7}\right)}{\tau^{4}\left(\bar{\chi}_{16}\right)}+\frac{\tau^{4}\left(\bar{\chi}_{16}^{5}\right)}{\tau^{4}\left(\bar{\chi}_{16}^{3}\right)}\right|=\left|\frac{\tau^{4}\left(\chi_{16}^{7}\right)}{\tau^{4}\left(\chi_{16}\right)}+\frac{\tau^{4}\left(\chi_{16}^{5}\right)}{\tau^{4}\left(\chi_{16}^{3}\right)}\right|=\frac{2 \cdot|\alpha|}{\sqrt{p}} .
\end{aligned}
$$

This proves Theorem 2.
From Theorems 1 and 2 we know that Theorem 3 is true for $k=4$ and 5 . Assuming that Theorem 3 holds true for $k=n \geq 5$. That is,

$$
\begin{equation*}
\left|\prod_{\substack{j=1 \\ j \equiv-1 \bmod 8}}^{\prod_{\substack{h=1 \\ h \equiv 1 \bmod 8}}^{\prod^{2 n-1}-1} \tau^{4}\left(\psi^{j}\right)} \psi^{\left.2^{n-1}\right)} \prod_{\substack{j=1 \\ h=1 \\ h \equiv 3 \bmod 8}}^{\prod_{j \equiv-3 \bmod 8}^{2^{n-1}-1} \tau^{4}\left(\psi^{j}\right)} \tau^{2^{n-1}\left(\psi^{h}\right)}\right|=\frac{2 \cdot|\alpha|}{\sqrt{p}}, \tag{3.8}
\end{equation*}
$$

where $\psi=\chi_{2^{n}}$ is a $2^{n}$-order character modulo $p$.
So the conjugate of (3.8) is

$$
\begin{equation*}
\left|\frac{\prod_{\substack{j=1 \\ j=-1 \bmod 8}}^{2^{n-1}-1} \tau^{4}\left(\bar{\psi}^{j}\right)}{\prod_{\substack{h=1 \\ h=1 \bmod 8}}^{2^{n-1}-1} \tau^{4}\left(\bar{\psi}^{h}\right)}+\frac{\prod_{\substack{j=1 \\ j=-3 \bmod 8}}^{\prod_{\substack{h=1 \\ h=3 \bmod 8}}^{2^{n-1}-1} \tau^{4}\left(\bar{\psi}^{j}\right)} \mid}{\tau^{4}\left(\bar{\psi}^{h}\right)}\right|=\frac{2 \cdot|\alpha|}{\sqrt{p}} . \tag{3.9}
\end{equation*}
$$

Then for $k=n+1$ and $j$ with $j \equiv 1 \bmod 8$, from Lemma 2 we have

$$
\begin{equation*}
\frac{\tau^{4}\left(\bar{\chi}_{2^{n}}^{j j}\right)}{\tau^{4}\left(\bar{\chi}_{2^{n}}^{j}\right)}=\frac{\bar{\chi}_{2^{n-1}}^{3 j}\left(2^{4}\right) \cdot \tau^{4}\left(\chi_{2^{n+1}}^{j}\right) \cdot \tau^{4}\left(\chi_{2^{n+1}}^{j\left(2^{\left.n-2^{3}+1\right)}\right)}\right.}{\tau^{4}\left(\chi_{2^{n+1}}^{7 j}\right) \cdot \tau^{4}\left(\chi_{2^{n+1}}^{\left.j()^{n}-1\right)}\right)} . \tag{3.10}
\end{equation*}
$$

Note that the identity

$$
\prod_{s=0}^{2^{n-3}-1} \bar{\chi}_{2^{n}}^{3(8 s+1)}\left(2^{4}\right)=\bar{\chi}_{2^{n}}^{2^{n-3}+2^{n-1}\left(2^{n-1}-1\right)}\left(2^{12}\right)=1
$$

From (3.9) and (3.10) we may immediately deduce the identity

$$
\begin{equation*}
\left|\frac{\prod_{\substack{j=1 \\ j=-1 \bmod 8}}^{2^{n-1}} \tau^{4}\left(\bar{\chi}_{2^{n+1}}^{j}\right)}{\prod_{\substack{h=1 \\ h=1 \bmod 8}}^{2^{n}-1} \tau^{4}\left(\bar{\chi}_{2^{n+1}}^{h}\right)}+\frac{\prod_{\substack{j=1 \\ j=-3 \bmod 8}}^{2^{n}-1} \tau^{4}\left(\bar{\chi}_{2^{n+1}}^{j}\right)}{\prod_{\substack{h=1 \\==3 \bmod 8}}^{2^{n}-1} \tau^{4}\left(\bar{\chi}_{2^{n+1}}^{h}\right)}\right|=\frac{2 \cdot|\alpha|}{\sqrt{p}} . \tag{3.11}
\end{equation*}
$$

Taking the conjugate for (3.11), this implies that Theorem 3 is complete for $k=n+1$.
This proves Theorem 3 by mathematical induction.

## 4. Conclusions

The main result of this paper is to prove a new identity for the classical Gauss sums. That is, if $p$ is a prime with $p \equiv 1 \bmod 2^{k}, k \geq 4$, then for any $2^{k}$-order character $\psi$ modulo $p$, we have the identity

$$
\left.\left|\prod_{\substack{j=1 \\ j \equiv-1 \bmod 8}}^{\prod_{\substack{h=1 \\ h \equiv 1 \bmod 8}}^{2^{k-1}-1} \tau^{4}\left(\psi^{j}\right)} \tau^{2^{k-1}-1} \psi^{\left.\prod_{j=1}^{h}\right)} \tau^{4}\left(\psi^{j}\right)\right| \frac{\prod_{\substack{h=-3 \\ h \equiv 3 \bmod 8}}^{2^{k-1}-1} \tau^{2^{k-1}-1}\left(\psi^{h}\right)}{\prod_{h=1}^{2}} \right\rvert\,=\frac{2 \cdot|\alpha|}{\sqrt{p}} .
$$

These results give the exact values of some special Gauss sums and reveal the values distribution of classical Gauss sums. This not only promotes the research of some well-known sums, such as Kloosterman sums, which plays an important role in the study of the Diophantine equation, but also makes new contributions to the research of other related fields.

## Acknowledgments

The author would like to express her gratitude to the referees and coordinating editor for their valuable and detailed comments. This work was supported by the National Natural Science Foundation of China under Grant No. 11771351.

## Conflict of interest

The author declares that there are no conflicts of interest regarding the publication of this paper.

## References

1. T. M. Apostol, Introduction to analytic number theory, New York: Springer-Verlag, 1976.
2. D. A. Burgess, On Dirichlet characters of polynomials, Proc. London Math. Soc., 13 (1963), 537548. doi: $10.1112 / \mathrm{plms} / \mathrm{s} 3-13.1 .537$.
3. B. C. Berndt, R. J. Evans, The determination of Gauss sums, Bull. Am. Math Soc., 5 (1981), 107129. doi: 10.1090/S0273-0979-1981-14930-2.
4. J. Bourgain, M. Z. Garaev, S. V. Konyagin, I. E. Shparlinski, On the hidden shifted power problem, SIAM J. Comput., 41 (2012), 1524-1557. doi: 10.1137/110850414.
5. L. Chen, On classical Gauss sums and some of their properties, Symmetry, 10 (2018), 625. doi: 10.3390/sym10110625.
6. S. Chowla, J. Cowles, M. Cowles, On the number of zeros of diagonal cubic forms, J. Number Theory, 9 (1977), 502-506. doi: 10.1016/0022-314X(77)90010-5.
7. L. Chen, J. Y. Hu, A linear recurrence formula involving cubic Gauss sums and Kloosterman sums, Acta Math. Sin. (Chin. Ser.), 61 (2018), 67-72.
8. Z. Y. Chen, W. P. Zhang, On the fourth-order linear recurrence formula related to classical Gauss sums, Open Math., 15 (2017), 1251-1255. doi: 10.1515/math-2017-0104.
9. A. Granville, K. Soundararajan, Large character sums: Pretentious characters and the PólyaVinogradov theorem, J. Amer. Math. Soc., 20 (2007), 357-384. doi: 10.1090/S0894-0347-06-00536-4.
10. D. Han, A Hybrid mean value involving two-term exponential sums and polynomial character sums, Czech. Math. J., 64 (2014), 53-62. doi: 10.1007/s10587-014-0082-0.
11. K. Ireland, M. Rosen, A classical introduction to modern number theory, New York: SpringerVerlag, 1990. doi: 10.1007/978-1-4757-2103-4.
12. X. Y. Liu, W. P. Zhang, On the high-power mean of the generalized Gauss sums and Kloosterman sums, Mathematics, 7 (2019), 907. doi: 10.3390/math7100907.
13. C. D. Pan, C. B. Pan, Goldbach conjecture, Beijing: Science Press, 1992.
14. A. Weil, On some exponential sums, Proc. Natl. Acad. Sci. USA, 34 (1948), 204-207. doi: 10.1073/pnas.34.5.204.
15. W. P. Zhang, J. Y. Hu, The number of solutions of the diagonal cubic congruence equation $\bmod p$, Math. Rep., 20 (2018), 73-80.
16. W. P. Zhang, A. Samad, Z. Y. Chen, New identities dealing with Gauss sums, Symmetry, 12 (2020), 1416. doi: 10.3390/sym12091416.
17. W. P. Zhang, Y. Yi, On Dirichlet characters of polynomials, Bull. London Math. Soc., 34 (2002), 469-473. doi: 10.1112/S0024609302001030.
18. W. P. Zhang, W. L Yao, A note on the Dirichlet characters of polynomials, Acta Arith., 115 (2004), 225-229. doi: 10.4064/aa115-3-3.
© 2022 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)
